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000000 10 Inwhich university is Sandy going to study next
monthJ AL Cambridgel] BO OxfordJ CLI Harvardd 200 What
' sthe woman going to do on Saturday] ALl See a filmJ BLJ See a
playl] CL[ Attend a lecturel] 30 Is the supermarket far awayd A
[1 Yes[] you musttake a bus or a taxi to get there[J B[ NoLl itis
within walking distancel] CL Noll butyou’ d better not walk(] 4
L1 When will the woman buy the coatl] ALl Now(l B[] Todayll C
[J Hard to sayl] 500 What festival is itl] ALl Easterl] B[1 NewYear
O COChristmasl) OO0 OOO150000002150 000225
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[ 600 Where is the boy going to spend his holidaysC] ALl In the
cityld BLI In the countryld CL Abroadl] 700 What will he do there



[J Al To do some farm workd B[ To study at homell CLJ To
do some houseworkl] 81 Which of the following statements is not
truel] Al The boy’ sgrandparents live in the countryd BLI The
boy’ sschoolisinthe cityld CO The girl knows how to farm[J too
O 0070000000090 110 0 90 Where is Mary going[]
ALl Homell BO To the parkd CL To schoolld 1001 Why doesn

't Mary like walking through the streetst] ALl It" stoo coldd B
[1 The park is too farlJ CLI Itisn” tinterestingl]d 111 When did
the conversation most likely take placel] AL Late in the morningL]
BLI Late in the afternoond CO Early in the morningd [ [0 801 [
00000120 130 O 1200 Where will the dinner party be held[
Al At Helen’ s B AtPaul’ stJ CO Atthe Browns’ [0 13

[0 Why can’ t Helen go to the partyl] ALl Because sheisilll] B

[1 Because she has to study] C[J Because she likes partiesC] [ 19
0000000140 1600 O 140 Why does Julia wantto leave her
present job] AL Because she does not like the job[] B[] Because
she wants to do the same thingll CLI Because she wants to travel[]
1500 Which of the following countries is Julia most likely to go to if
she is given a job therell ALl Britain(J BL1 Americall CO Italy[]
1600 Who is Tom Al Julia” s husbandl] B Julia’ s brother(]
COJulia’ sbossd D O100000O00OO1702000 17

[ What is Susan Welchd A A writer] BL Asinger] CO An
announcerd 181 Which of the following may be included in BBC
International programsC] ALl News of music librariest] B[] Stories
about the good old daysl] CO Various kinds of classical and pop
songs] 1901 Which program gives the ideas behind the pop songs



[1 ALl The History of Popll BL1 About the Big HitsL1 CLI The
Road to Musicld 201 Which word best describes native speakers

' understanding of English pop songsC] ALl Impossiblel] B
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